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1. What will be the output of the following statements?

1. listl = [12,32,65,26,80,10]
listl.sort()
print(listl)

11. listl = [12,32,65,26,80,10]
sorted{listl)
print(listl)

111. listl = [1,2,3,4,5,6,7,8,9,10]
listl[::-2]
listl[:3] + 1istl[3:]

- listl = [1,2,3,4,5]
listl[len{listl)-1]

2. Comnsider the following list myList. What will be
the elements of myList after the following two
operations:

myList = [10,20,30,40]
i. myList.append([50,60])
ii. myList.extend([80,50])

3. What will be the output of the following code
segment:
myList = [1,2,3,4,5,6,7,8,9,10]
for 1 in range (0, len(myList)) :
if 1%2 == 0:
print (myList[i])

4. What will be the output of the following code

segment:

a. myList = [1,2,3,4,5,6,7,8,9,10]
del myList[3:]
print (myList)

b. myList = [1,2,3,4,5,6,7,8,9,10]
del myList[:5]
print (myList)

c. myList = [1,2,3,4,5,6,7,8,9,10]
del myList[::2]
print (myList)

5. Differentiate between append()] and extend|)
functions of lList.

6. Consider a list:
listl = [6,7,8,9]
What 1s the difference between the following
operations on listl:
a. listl * 2
b. listl *= 2
c. listl = 1listl * 2



7. The record of a student (Name, Roll No.,
Marks 1in five subjects and percentage of
marks) 1s stored in the following list:
stRecord = ['Raman', 'A-36',[56,5986,99,72,69],

18.8]
Write Python statements to retrieve the following

information from the hist stRecord.
a) Percentage of the student
b) Marks in the fifth subject
c) Maximum marks of the student
d) Roll no. of the student
e)] Change the name of the student from
‘Raman’ to ‘Raghav’

1. Consider the following tuples, tuplel and tuple2:
tuplel = (23,1,45,67,45,9,55,45)
tuple2 = (100,200)

Find the output of the following statements:

i. print(tuplel.inds=x (45))
1. print(tuplel .count (45))
111. print(tuplel + tuplsZ)
v, print(len(tupls2))
wv. print (max (tuplel))

vi print (min(tuplel}}

vii. print (sum(tupleZ))

viii. print(sorted(tuplel))
print (tuplel)

2. Consider the following dictionary stateCapital:

stateCapital = {"AndhraPradesh”: "Hyderabad",
"Bithar" : "Patna" , "Maharashtra” : "Mumbai ",
"Rajasthan” : "Jatpur ™}

Find the output of the following statements:

i. print(stateCapital . get("Bithar™))
print (stateCapital  keys())

!:.‘:

#i. print(stateCapital .values())

iv. printistateCaplital.items())

wv. print{len(stateCapital))

vi print("Maharashtra" in stateCapital)
vii. print(stateCapltal .get("Assam”) )

viti. del stateCaplital ["Rajasthan”]
print (stateCapital)

3. “Lists and Tuples are ordered”. Explain.

4. With the help of an example show how can you
return more than one value from a function.

5. What advantages do tuples have over lists?

6. When to use tuple or dictionary in Python. Give some
examples of programming situations mentioning
their usefulness.



7. Prove with the help of an example that the variable
is rebuilt in case of immutable data types.

8. TypeError occurs while statement 2 is running.

Give reason. How can it be corrected?
>>> tuplel = (5) #statement 1
>>> len(tuplel) #statement 2

1. Write a program to read email IDs of n number of
students and store them in a tuple. Create two new
tuples, one to store only the usernames from the
email IDs and second to store domain names from
the emaul IDs. Print all three tuples at the end of the
program. [Hint: You may use the function split()]

2. Write a program to input names of n students and
store them in a tuple. Also, input a name from the
user and find if this student is presentin the tuple or not.

We can accomplish these by:
(a) writing a user defined function
(b) using the built-in function

3. Write a Python program to find the highest 2 values
in a dictionary.

4. Write a Python program to create a dictionary from

a string.

Note: Track the count of the letters from the string.
Sample string  : 'w3resource'

Expected output : {31, 's" 1,'r:2,"ux 1, 'w: 1, 'c: 1,

‘et 2, 0" 1}

5. Write a program to input your friends’ names
and their Phone Numbers and store them in the
dictionary as the key-value pair. Perform the
tollowing operations on the dictionary:

a) Display the name and phone number of all your
friends

b) Add a new key-value pair in this dictionary and
display the modified dictionary

c) Delete a particular friend from the dictionary
d) Modify the phone number of an existing friend

e) Check if a friend 1s present in the dictionary or
not

f) Display the dictionary in sorted order of names



PROJECT WORK

1. GAME PROJECT IN PYTHON “Rock —Paper — scissors”

2. GAME PROGRAM IN PYTHON “Guessing Number Game”
3. Simulation of Dice —in Python




qubieﬁi : 60-'{15_&0\.

Class - X
( Sea~—# z»g)
@ \A'ﬂ‘\ﬁ« CLQL}QV\ )Eg-ﬁ, &W}Lﬁ 04 Wm u(‘gk {g_‘—?
on of ;ER.K’_'TOQ)M“W/CMD\“&

@ N“A’Q., 0 Q.J‘}\‘é{\ ‘ (L_‘,q),ﬂ . :
g1 oh, gy BT done.

8

&BW\LAQL“% ,ng_&_ o:t W"}:\ w&%

apa 9 Wl
@) vho uwar E Mo«sélau\9 Wiy Dl he been walins
foo D Andepris— Manaon 7

N

@ ‘l\"f;l‘%’ﬁ/ (o C/N" e’q}_a—«ﬂ\"\(}\/\, o()i— M/TOWIQML\W\—-(’L{&,
" heldon B3




*QfTcTehTelleT 37ahTer 718 FR*
HeTT - Taﬂa?ﬂ

1. &fAs TARIR-IT & FUIEs & feear $ir 3R & v g7 Qe fogs sateat # sed semar
FI 31T TR T &ATeT TR T HIAT AT &7

2. '3T5T T fRAETT & deold TIFT U Ueh {ATcHS oleT foT@U]|

3. T & AP T JhT 3T FAT U W 872
4. IAATT TET H gt i Fufa Fg @#Ar g deoi 72 379« 3R sgag fifav|

5. GGV 7T TS T JoRIg T |
6. mﬂwﬁmﬁmmmﬁtﬁ
7. AR Y RN T Seam Rfew?



PM SHRI KENDRIYA VIDYALAYA,GOMOH, DHANBAD
CHAPTER 10 STRAIGHT LINES
CLASS-XI(2023-24)

WINTER BREAK(H/W)

SECTION - A

Questions 1 to 10 carry 1 mark each.

1. The equation of line whose intercepts on the axes of x and y are —2 and 3 respectively is

@3x-2y=6 (b)3x-2y+6=0 (c)3x+2y=6 (d)3x+2y=-6

2. The new coordinates of point (3, —5), if origin is shifted to the point (-3, —2) are

(@) (6, 3) (b) (6,-3) (c) (6. 3) (d) (-6,-3)

The angle between the X -axis and the line joining the points (3, — 1) and (4, — 2) is
(a) 45° (b) 135° (c) 90° (d) 180°

The value of y will be, so that the line through (3, y ) and (2, 7) is parallel to the line through (-1, 4)
and (0, 6).
@7 (b) 8 ()9 (d) 10

The equation of the line passing through the point (1, 2) and perpendicular to the linex +y +1=0is
@y-x+1=0 (b)y—-x-1=0 (©)y—-x+2=0 (dy—-x-2=0

The equation of line, which passes through point (4, 3) and parallel to the line 2x — 3y =7 is
(@2x—3y+1=0(b)2x—3y—-1=0 (©)2x+3y+1=0 (d)2x+3y-1=0

The distance of the point (3, — 5) from the line 3x —4y —26 =0 is
3 2 7 3
(@) 7 (b) 5 (c) 5 (d) 5

8. The distance between the parallel lines 3x —4y+7=0and 3x —4y +5=0, is

@ 3 OF © 1 © 2

For Q9 and Q10, a statement of assertion (A) is followed by a statement of reason (R). Choose the
correct answer out of the following choices.

9.

(@) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) Alistrue but R is false.

(d) Ais false but R is true.

Assertion (A): Slope of line 3x — 4y + 10 = 0 is 3/4.

Reason (R): x-intercept and y-intercept of 3x — 4y + 10 = 0 respectively are —10/3 and 5/2.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Assertion (A): The slope of the line x + 7y = 0 is 1/7 and y-intercept is 0.
Reason (R): The slope of the line 6x + 3y —5 = 01is — 2 and y-intercept is 5/3.

SECTION-B

Questions 11 to 14 carry 2 marks each.

Line through the points (-2, 6) and (4, 8) is perpendicular to the line through the points (8, 12) and (X,
24), find the value of x.

Find the equation of the straight line passing through the point (6, 2) and having slope — 3.
If the lines 2x +y—3 =0, 5x + ky — 3 =0 and 3x —y — 2 = 0 are concurrent, find the value of k.

Find the equation of lines passing through (1, 2) and making angle 30° with y-axis.

SECTION - C

Questions 15 to 17 carry 3 marks each.

Find the equations of the altitudes of the triangle whose vertices are A(7, 1), B(-2, 8) and C (1, 2).
If P (a, b) is the mid-point of a line segment between axes. Show that equation of the line
IS i+ X =2

a b

The vertices of the triangle are A(2, 3), B(4, —1) and C(1, 2). Find the length and equation of the
perpendicular drawn from the point A on side BC.

SECTION-D

Questions 18 carry 5 marks.

Find the equations of the lines which pass through the point (4, 5) and make equal angles with the
lines5x— 12y + 6 =0and 3x =4y + 7.

SECTION — E (Case Study Based Questions)

Questions 19 to 20 carry 4 marks each.

One triangular shaped pond is there in a park. Three friends Rani, Mansi, Sneha are sitting at the
corners of the triangular park. They are studying in Class Xl in an International.
Rani marked her position as (2, —2), Mansi marked as (1, 1) and Sneha marked her position as (-1, 0)
as shown in figure given below.

Rani (2, -2)

Mansi (1, 1) Sneha (-1, 0)

Based on the above information answer the following questions.

(i) Find the equation of lines formed by Rani and Mansi. (1)

(i) Find the Slope of equation of line formed by Rani and Sneha. (1)
(iii) Find the equation of median of lines through Rani. (1)
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(iv) Find the equation of altitude through Mansi. (1)

20. One day the mathematics teacher drew a triangle AABC while revising straight lines. He marked
vertices A(1, 4), B (2, — 3) and C(— 1, — 2) as shown in the given below figure. AD is the median and
AM is the altitude through A.

A(1, 4)

-
B(2,-3) b M C-1,-2

Based on the above information answer the following questions.

(i) Find the slope of BC. (1)

(i) Find the equation of median through A. (1)

(iii) Find the equation of the altitude through A. (1)

(iv) Find the equation of right bisector of side BC. (1)

Page - 3 -



